
FJ

Parts

Locator

39

©2010 LaserPerformance



1
40

©2010 LaserPerformance

FJ Sails
Sail Numbers
95845 12 inches, blue
95846 12 inches, red
95853 12 inches, black

95861 Batten set, main
95875 Top compression batten, FJ
99464 Lower and middle Batten, FJ  
 (one only)

94501 Jib

94500 Main

94502 Spinnaker - blue stripe



1
41

©2010 LaserPerformance

FJ Hull

91253

91064

Drain Plugs
91090 Grey, Holt Allen
91085 Black, Beckson, CURRENT
91086 Black, RWO
91088 White, Bayonette 

91198

91404 Bow bracket
91397 Backing plate

91074 1/4 x 1” pin
91442 1/4” ring

95800

91255 U-bolt
91013 backup bar

91340

91340

91217
91446

91255 U-bolt
91013 backup bar

91340

91217
Spring91446

91100

91312

91217 Spring

Hiking Straps
91132 Hiking Strap set, 2 of each
91136 Forward Hiking Strap, 36”
91135 Aft Hiking Strap, 28”
91131 Hiking strap plate (not shown)
91100 Eyestrap under centerboard cap

91096

91337

91283

91312

91100

91219 Transom sti!ener
91024 Tennis ball bailer

91096

91094
91098 Eyestrap

85023

91327

91100

90545
90413 Mast step bolt
90550 Mast step nut

91372 Inspection Port 
               (not shown)

91198

91100 

91077 3/16 x 1/2 pin w/ring

91350

91046 Bow Bumper (not pictured)
91193 Rubrail, standard platinum, 32ft
91002 Rubrail, heavy duty, 32ft

91065

91096



1
42

©2010 LaserPerformance

FJ Cal Style Spars

90410

91077

90510  Complete Hounds Assembly

90420

90587

90586

91099

91250

90410

90207

90570

90503 

91100

91312

90509

91537

90456
90568

91327

91070

91339

90559

17675 Spin Pole

91330

91203

90406

91336

913279040490403

90467

91205

91341

18650 Boom Rigged

90605 Complete Vang

90491
90555

90498
90659

3/8x1x1/2” washer

3/8-16x2” SS Bolt

90490 Complete Gooseneck

90583

91200

90218

90003

90018 Spreaders (pair)
90016 Spreader Tips(1)

90567

90548 Masthead Assembly
90578 Masthead Sheave
91074 1/4” x 1“ pin

1/4”x 3/4” pin and ring

18602 Mast, FJ, Cal Style JRV, Rigged with spinnaker gear
18600 Mast, FJ, Cal Style SCV, Rigged (no spinnaker gear)

91099 Eyestrap (not shown)
91339



1
43

©2010 LaserPerformance

FJ SCV Spars

90410

91077

90510  Complete Hounds Assembly

90420

90587

90586

90548 Masthead Assembly
90578 Masthead Sheave
91074 1/4” x 1in pin
91442 1/4” ring

90567 Ring for Main Halyard
               (not pictured)

90218 Shroud
90206 Forestay

90003

90018 Spreader Pair
90016 Spreader Tips 
               with pin and rings

91200

91336

90570

90410

90503 Jib Halyard

91100

91330

91203

91336

913279040490403

90467

91205

91341

18650 Boom Rigged

90605 Complete Vang

91200

90583

90559

91070

90406

91339

91327

1/4”x 3/4” pin and ring

18601 Mast, FJ, SCV, Rigged with running and standing rigging
89039 Mast, FJ, SCV, Unrigged (no running or standing rigging)
18600 Mast, FJ, SCV, Cal Style, Rigged (no spinnaker gear)

90491
90555

9049890659

3/8x1x1/2” washer

3/8-16x2” SS Bolt

90490 Complete Gooseneck

91099 Eyestrap (not shown)
91339

91052



1
44

©2010 LaserPerformance

FJ Blades

Centerboard
85024 FJ centerboard
85014 FJ centerboard gasket retainer
85016 Centerboard pivot bolt
 85042 Gasket end
85049 Gasket (each)

Cal Style Pintles (not pictured):
85093 Upper
85092 Lower

85215 - Rigged with tiller and extension
85213 - Unrigged (no extension, no cleat)

91066
85134 Rudder Head
85256 Spacers

85116  Cal Style Blade Only

85200
91066

85076

85207 Unrigged Over Transom SCV FJ Tiller
85212 Unrigged Straight thru-transom SCV FJ tiller (alum)

        85117  Blade only

85133 

85265 
Gudgeon Bushing

85193

85091

85238

85090

85298 Rigged Over Transom SCV FJ Tiller 

85165

85165
85258

85165

85152  Complete FJ Rudder (non Cal-style)

85151 Rigged Cal Style Rudder



LaserPerformance NORTH AMERICA
300 Highpoint Avenue
Portsmouth, Rhode Island 02871
USA
t +1 800 966 SAIL
f +1 401 683 0990

LaserPerformance EUROPE
Station Works, Long Buckby
Northamptonshire NN6 7PF
United Kingdom
t +44 (0) 1327 841600
f +44 (0) 1327 841601

LaserPerformance ASIA
Room 3415
China Merchants Tower
Shun Tak Centre
No. 168-200 Connaught Road Central
Hong Kong
t +852 2902 2818
f +852 2587 7868

LaserPerformance MIDDLE EAST
Dubai Investment Park
po box 38442
Dubai, UAE
t +9714 885 7601

LASERPERFORMANCE.COM

All rights reserved. ©2010 LaserPerformance. LaserPerformance and associated logos are 
trademarks. Laser, SB3, Sunfish, and Dart are trademarks used under license.  LaserPerformance 
reserves the right to make design and/or specification changes to any of their products as part of 
their continuous development program.


